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1.Which command allows the administrator to leave services currently under Veritas Cluster Server 

control in a running state while performing configuration changes? 

A. hastop -all -force 

B. hastop -all -evacuate 

C. haconf -all -force 

D. haconf -all -evacuate 

Answer: A 

 

2.What is a function of the Enforce Server? 

A. provides a GUI for policy creation 

B. detects incidents 

C. writes incidents to all detection servers 

D. deploys agents to endpoint computers 

Answer: A 

 

3.When resolving or dismissing incidents, Symantec recommends that an incident responder completes 

which action? 

A. Add comments 

B. Delete incidents 

C. Set severity 

D. Export incidents 

Answer: A 

 

4.What is a benefit of the Symantec Data Loss Prevention 9.0 security architecture? 

A. Communication is initiated by the detection servers inside the firewall. 

B. Mutual authentication between servers is based on the Challenge Handshake Authentication Protocol 

(CHAP). 

C. Endpoint Agent to Endpoint Server communication uses the Triple Data Encryption Standard (3DES). 

D. Encryption is provided for confidential information across system components. 

Answer: D 

 

5.Which three functions of the communications architecture ensure that the system is able to 

automatically recover should a network connectivity failure occur between the detection servers and the 

Enforce Server? (Select three.) 

A. Database backup 

B. Autonomous monitoring 

C. Automatic synchronizing 

D. Incident queuing 

E. Alert archiving 

Answer: B,C,D 


